Prflim <ot #1  Solabav

UB it W ,BAAQLZLIJ_&“ x* - “('?L --[‘&Q*ZE’ +1 )

@ The +op of e L_.u___._é__rékw_fm uz) whore Vh=0

\71'\ = a—x + %’5 g = mﬁrgia é;c—l%)x

oX

~ HIo(ax - ?3 +:3)U

ﬂto | = EOP& Wﬂﬂ_ 2e 40

= 100y - Cx-18) = M-—C: 2] []
L O(2x —3«5 +28\'-'f & =

— L m%m

—J::\thg = 7(. - -l—?ﬁkéis_

\piir,gp&ul 1@&@7

oo B omiles pocth  f Soud n.,LZﬂ

®) \(1%& hess L r,g Re Wil s vhe vl of h oF
xz2-2 ) ca :

[W(2,3) = D0 Lt |
Qc) 3’:*"’3‘5’.[5#\655.. = anml—é_lt_ A g& @wqo(e..ak

v

Thit, 8 = 0@ 4 r | o(i'_-;%;_ié._)_ﬁ = ~2203 + 200%

Stepress = \TLULD| = 22002 =
O dvechen = TYh o _osra <




Problem 1d

hix_,y_] :=10*( 2 xy - 3 x°2 - 4 y"2 -
18 x + 28 y +12)

Plot3D[h[x,y],{x,-5,0},{y,0,5}]

contours = ContourPlot[h[x,y],{x,-4,0},{y,0,6}]
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Needs["VectorFieldPlots™"]



2 |P.S. #1.nb

fiel - . .
ields GradientFieldPlot[h[x, y], {x, -4, 0}, {y, O, 6}, PlotPoints -» 10]
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Show[contours, fields]
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